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SEAT NP. SUPERVISOR’S SIGN :

UNIVERSITY OF MUMBAI’S
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
POST GRADUATE DIPLOMA IN MANAGEMENT (PGDM) /
POST GRADUATE DIPLOMA IN RETAIL MANAGEMENT (PGDRM)
ENTRANCE EXAMINATION '

DATE : 07-JUL-17 TIME : 11.00 AM TO 12.00 NOON MARKS : 50

NOTE: Answer ALL 25 Questions. Tick mark correct answer ( either a, b, ¢ ) On @ﬁ
This Question paper SHEET and RETURN Back this paper to supervisor

(1) Birth Place of Fatherof Nation is ........
(a) Gandhinagar (b) Rajkot (c)Porbunder

2) The Company that has SALT and trucks as PRODUCTS is in India is..........
(a) Reliance (b Birla (c) Tata

3 ) DTH Productare ......
(a )Entertainment  electronics TVrelated (b)Communications ( c)information and Telecom

(4) IN Which Year Rs2000/- Notes were Introduced .
(a) 2011 (b) 2016 (c) 2010

(5) FDIin business MEANS
(a) Fixed deposit interest (b) Foreign dept Interest (c) Foreign direct investment

(6) Reserve Bank controls
(@) CRS (b) CRM (c) CRR

(7) GST Stands for
(a) General Sales Tax (b) Goods sales Tax (c) Goods and Service Tax

(8) Banks were nationalized by PRIME minister .
(a) Pandit Nehru (b) India Gandhi (c) V.P.Sing.
(9) Name 1% Indian person who became Governor of RBI.
(a) LKJHA (b)CD DESHMUKH (C) MANMOHANSINGH

(10) 5™ sept is birthday of
(a) Indira Gandhi (b )Ravindranath Tagore (c) Dr.S.Radhakrishna

(11) Demonetisation of Rs 1000/note was announced on
(@) 5™ Nov 2016 (b)8™ Nov 16(C) 8" Nov 15

(12) Nagpur is known for its-
(a) Oranges (b) Cotton  (c) Banana



(13) AIRBUS Industries main HQ is In...
a) USA (b) FRANCE (c) Germany.

(14) Air Bus which has over 560 passengers Capacity is
(a) A320 (b) A380 (c) Boeing 767

(15) Which is Highest in storage capacity
(a) Gega Byte (b) Terrra Byte (c) Mega Byte

(16) Adhar is based ona
(a) Bio Metric (b) Iris base (c) Proximity based .

(17) NBFC- relates to

(a)Media (b) Stock Exchange (c) Finance other than Banks

(18) IRDP Relates to-

(a) Insurance Regulation (c) International Regulation

(b) Integrated Rural

(19) IRDA Relates to-

(a) Insurance Re (c) International Regulation

gulation (b) Integrated rural

LUL  annual Sales in 2016- 2017 year is—

(20)
(A)Rs 31000 Cr (B) Rs3100Cr( C) Rs. 310 Cr

(21) PATANJALI annual Turn Over in 2016-17 year is
(a) Rs 5000Cr (b) Rs.10000 Cr (c) Rs.1000 Cr

(22) “ Niti Aayog " main function is

(A) Licence for Business ( B) Planning (C) Technology upgrade

(23) Which of following states will go to Assembly polls in end of 2017
(a) Guijarat (b) Karnatak (c) Uttarakhand
uns Indian Women won Cricket Match against Pakistan

(24) By How many
( ¢c) 85Runs

(@) 105 Runs (b)95 Runs

(25) ECGC - deals with.

(@) Export of items  (b) Export Credit support (c) Exchange Control./
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g- 3 questions,. In BLANK SPACE
(25)

NOTE-—--WRITE IN SHORT, about followin
PROVIDED... Below..(5 marks each)

Q1) How did You of This PGDM/ PGORM Course.
What are Your Expectations from This PGdn/orm Course

your desire for specialization subjects.
ANS....

and what is

Q2) Describe an event or a Place which you Visited in last 2 years and You

Liked most...

Q3) Describe about Your 2 best Friends in previous school/college and there

hobbies/ future studies plans etc.

Industry and Common person.

Q4).. Your Views On Demonetisation effects on

Ans.:

Q5) GST its impact.
Ans.:
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SEAT NO. : SUPERVISOR’S SIGN.:

UNIVERSITY OF MUMBATI’S
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
P.G. DIPLOMA IN MANAGEMENT
(PGDM)
ENTRANCE EXAM

DATE: 15-Jul-16 _ TIME : 11.00AM _TO 12.00 NOON MARKS : 50

NOTE: » DO NOT CARRY YOUR MOBILE IN THE EXAMINATION HALL

» ALL QUESTIONS COMPULSORY
» NO NEGATIVE MARKS FOR INCORRECT ANSWERS
» TICK MARK THE ONE CORRECT ANSWER (a, b, ¢, or d) OF MULTIPLE CHOICES

» EACH QUESTION CARRIES 1 MARKS
(1) Which One is Odd --- (a) Food processor  (b) Washing Machine (c) Refrigerator

(2) Which One is Odd (a) Cadbury (b) Parle (c) HUL

(3) Which One is Odd (a) Vodafone (b) Airtel (c)GODREJ
(4) Which is an Odd (a) Pen ( b) Pencil (¢) Notebook

(5) WhichoneisOdd-  (a) Tabla (b) Dholak (c) Sitar

(6) Which one is Odd (a) Flute (b) Shehanai (c) Sitar

(7) Tick the Correct answer -15" Aug is also Independence day for
(& South Africa (b) South Korea (c) Nepal

(8) The author of the book, “It Happened in INDIA
(a) Narayan Murthy (b) Aziz Premji . ( C) K.Biyani

(9) Which state has suffered due for heavy rains
(a) Karnataka (b) Madhya Pradesh (c) Maharashtra

(10) Which of the cities is also a “ State “,and has Chief minister
(a) Mumbai (b) Delhi (c) Kolkatta

(11)  Export quality Tea Darjeeling is Cultivated in which state
(a) Assam (b)  West Bengal (c) Bihar

(12) Financial Capital India
(a) Hyderabad (b) Delhi (c) Mumbai

(13) “? Incredible India™ - is associated ~ with ---- (&) Tourism  (b) Travel (c) Hotel

(14) Yen is Currency of--
(a) Japan (b) South Africa () Thailand




(15) EURO isa Currency of  (a) England (b) Germany (c) Japan

(16) Britannia Biscuit package has a
(a) Green Mark ( b) Red Mark (c) Black Mark

(17) 1 Billions means
(a) 10Cr (b) 100Cr (c¢) ICr

(18) 7 Habits is Book by
(a) Stephen Covey (b) Shiv Khera (c) Tom Peters

(19) Present Share Of Organised Retail in India is ....
(a) 3-5% (b) 81to 10% (c) 15-20%

(20) Which one Odd in following
(a) March (b)June (c) Sept (d) Nov.

(21) Who is winner of Singles - women ’s Wimbledon- Tennis in2016
(a) Marion Bartoli (c) Sabine Lisscki (c) Serena

(22) Who Played EURO CUP Finals in 2016
(a) France vs Germany  (b) France and England (c) France Vs Portugal

(23) Which is one Country Thatis member of BRICS nation
(a) Canada (b) Singapore (¢) South Africa

(24) In 1983 year was moment of Proud for all Indians
(a) World Cricket cup Win (b) World Hockey Win (c) World Chess Win

(25) With VAT made compulsory the net effect is-
(@) Price Increases (b) Total tax Collection increase  (¢) You Pay More (d) All (a+b+c)

(26) Varli Painting  Origin is from State of
(a) West Bengal (b) Maharashtra (¢) Karnataka

(27) The Arjun Award is associated with
(a) FILMs (b)  Sports ( ¢) Music

(28) No of Languages used in Indian Notes
(a) 16 (b) 17 (c) 18

(29) Elephants in India are mainly seen in
(a) Mabharashtra (b) Karnataka (c) Assam

(30) Country Known asLand Of Rising Sun is
(a) Australia (b) JAPAN (c) - CHINA




( 31) on26™ Jan  Indian National FLAG is Hoisted by
(a) President ( b) Vice President  (¢) Prime Minister

(32) Bangla Desh got its Independence in Year
(a) 1947~ (b) 1969 (c) 1971

(33) The Year when For First Time MOBILE Phone was Introduced in India
(@ 1991 (b) 1995 (c) 1998

(34) Present HOME Minister is (central Govt)
(a) Mr.Arun Jaitley (b) Mr Pranab Mukherjee  (c) Mr Rajnathsing

(35) The Total no Of MPs In Rjaya sabha ( Upper House)

(a) 565 (b) 525 (c) 545
(36) No of MPs Retire From Rajya every Timeis
(a)175 (b)525 (c) 545

(37) BRICS Countries Group means
(a) Bangladesh , Russia , India, China, Sudan
(b) Brazil , Russia, India, China South Africa
(c)Bhutan , Romania ,Indonesia, China, Somalia
(38) Which Country in world had 1* Lady Prime Minister
(a) INDIA (b) UK (c) Sri Lanka

(39) “Bandhan “ Got a New Licence in 2014 for opening
(a) Branches Over Seas. (b) Export Purpose (c) Banking Business

(40) Choose next no in logical sequence

16,48 , 80, 112, ,--- (a)133 (b) 154 (c) 144
(41) Choose next no in logical sequence 16, 64, 128,
(@ 256 (b) 192 (c) 32

(42) Independence DAY of USAison (a) 4™sept (b)4™July (c)4™ dec

(43) FDI has recently been relaxed in  (a) RETAIL (c) Banking (c) Telecom
(44) If Total Bill at Retail Stores Before discount is Rs 600 and if 7% Discount is Offered .and

4%VAT is Charged
How Much You will pay Rs. (a) 558 (b)581 (c)591

(45) Value of 1 Euro as Compared to 1 USD is
(a) 20% More (b) 30% more (c) 10% Lower




(46) “ Won” is a Currency of (a)Japan (b ) South Africa (c) South Korea
47y InLCD TV 32 Inch size— this length is measured as
(a) Shorter side- Vertical (b) Longest side- Horizontal length (c) Diagonal length
(48) Marketing ,advertisements —and sales are —
(a)Must for any Business ( b) Not necessary many business (¢) Waste of resources in Business

(49) How did You come to Know of PGDM Course at Garware institute ? and why You
Decided to Do this Course ,

Explain in2/3 sentences

(50) Which one specialization You want to select in PGDM,

(a) Marketing (b) Finance  (¢) HR. ------ Give in one line Reason------==-mmmmmmm--




SEAT NO. : SUPERVISOR SIGN.: B

UNIVERSITY OF MUMBAP’S’S
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
P.G. DIPLOMA IN MANAGEMENT
(PGDM)
ENTRANCE EXAM

DATE: 04-Jul-16 TIME : 11.00AM TO 12.00 NOON MARKS : 50

NOTE: » DO NOT CARRY YOUR MOBILE IN THE EXAMINATION HALL
» ALL QUESTIONS COMPULSORY
» EACH QUESTION CARRIES 2 MARKS

1. In the first 10 overs of a cricket game, the run rate was only 5§ What should

be the run rate in the remaining 40 overs to reach the winning target of 290

runs?
A. 6.25 B. 6..0
C.74 D.5

2. A grocer has a sale of Rs. 6000, Rs. 7000 Rs. 7000 Rs. 8000 and Rs. 7000
for 5 consecutive months. How much sale must he have in the sixth month so

that he gets an over all average sale of Rs. 7500 pm
A. 7000 B. 8000
C. 7500 D. 10000

3. The current age of daughter is 20 and father age is 48.
What will be age of father , when His age is. Double the age of daughter

A-51 B-54 C -56 D-58

4. The captain of a HOCKEY team of 11 members is 28 years old and the
GOAL keeper is 3 years older.

If the ages of these two are excluded,
The average age of the remaining players is 24 year

Find out the average age of the team.
A. 28 years B. 26 Years
C. 25.8 years D. 25 Years

118




5. A car owner buys Petrol at Rs.75.0 per liter , in 1" year Rs. 80 2™ Year and Rs. 85

per liter in 3" year

Owner Spends Rs. 30000/Per Year . In Which Year he will getless Mileage
A 1% B. 3" Year
C.No Change D. 2" Year

6. In Kiran's opinion, his weight is greater than 65 kg but less than 72 kg. His
brother does not agree with Kiran and he thinks that Kiran's weight is greater
than 60 kg but less than 70 kg. His mother's view is that his weight cannot be
greater than 68 kg. If all are them are correct in their estimation, what is the

average of different probable weights of Kiran?
A. 70 kg B. 69 kg
C. 61 kg D. 67 kg

7. A library has an average of 510 visitors on Sundays and 240 on other days.
What is the average number of visitors per day in a month of 30 days
beginning with a Sunday?

A. 290 B. 304

C. 285 D. 270



8.) A student's mark was wrongly entered as 83 instead of 63. Due to that the
average marks for the class got increased by half Y2 %. What is the number of

students in the class?
A. 45 B. 40
C.35 D. 30

9). 1204 + 12.75 = 16, then 2.04 + 1.275=?
A. 16 B.1.6 C-1.06 D-1.60

10). The central banking functions in India are performed by the

I. Central Bank of India
II. Reserve Bank of India
[II. State Bank of India
IV. Punjab National Bank

11). The present Lok Sabha is the
A.  14th Lok Sabha

BB.  15th Lok Sabha

®

16th Lok Sabha

33 17th Lok Sabha
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12. The Prime minister Clean River Project ,is for the river

A. Ganga B. Cauvery

C. Narmada D. Godavari

13. 5" sept is birtday of
(a) Indira Gandhi (b)Ravindranath Tagore (c) Dr.S.Radhakrishna
14. Reserve Bank Governor appointment is For
(a) 3 years (b) 4 Years | (c) 5 Years
15. Whois Present Governor of RBI. also Known as 3R

(@ R. Reddy Raman (b) Ramlingam Raghuram Ramohan (C) Raghu
Ram G Rajan

16 Whatis Currency of Germany
(a) Dollar (b) Pounds (¢) EURO

17 Name the Countries involved in BRICS __ ?

18. In the latest Railway budget, the government has announced the first bullet train

in which corridor?

[A]Delhi?Agré [B] Mumbai-Ahmadabad [C]Delhi-Kanpur [DjDelhi-Kolkata
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19.) What is Full form --- BSE ,

SEBI 2

20) Whatis full Form of ISRO

- Recently ( In Last 2weeks) How many satellites it launched in one go a world
Record....

21- Who Defeated England Foot ball Team in current 2016 EUROCUP

22) Whatis CSR activity in a Business Org.
23) How OIld is Mumbai University —

A) 110-120 Years B)120-130 C)140 -150 D) 150 - 160 Years
24) Name Two Sates- where in Recent May 2016 assembly elections

Lady chief Ministers were RELECTED and Give their Names

25) Write in S Lines about yourself and what is expectations From This Course

S|Page







SEAT NO. :

UNIVERSITY OF MUMBAI
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
P.G. DIPLOMA IN MANAGEMENT
(PGDM)
ENTRANCE EXAM

FECOMD KoUMND

DATE:07 -Aug-15 TIME : 11.00AM TO 12.00 NOON MARKS : 50
NOT _E » DO NOT CARRY YOUR MOBILE IN THE EXAMINATION HALL

» ANSWER ON THIS PAPER AND RETURN THIS PAPER

ﬂ Match the Two Columns below logically , (Marks 10)
(1)Sun (a) Thunder storm
(2)Cyclone (b) CLOUDS
(3)Sky (¢) REDHOT
(4) Kilometer (d) DISTANCE
(5)RAIN (¢)BLUE
il (Marks 10)

(A) BRICS Countries are
(B) The country which faced very Recently Economic Crisis is
(C) Missile Man Of India name is
(D) India;s 1** Woman President
(E) 1% Sports Person to get Bharat Ratna is

Ilﬂ Rearrange to make Correct sentence and select one Option (Marks 2)

(A) This Morning . (B) that resulted in water logging and traffic jam
(C) As aresult I reached Late to office (D) suddenly it rained very heavily

1) ABDC 2)BDAC 3)CBDA 4) ADBC

Iﬂ READ Following sentence and Classify Classify based on ---
Fact (F), Inference (I), Judgement (J) ----- select one order below- (Marks 2)

(A) Today is FRIDAY (B) SOME PEOPLE CALL some FRIDAY as Black

Friday C) Exams results were announced on Friday
TICK MARKONLYONE-- (DFFF @1JI1 @G JFI@)FI1J



L P T Nl B A
Vi Fill In Next No {Marks 2}

2. 8 40, 240mmmnmr

VI Fill innextNo 1,49 1625, 7 (Marks2)
VIE}J On a Purchase of items worth Rs 900 Mr Gopal saved Rs 135
Means Discountof (1)7% (2) 12% (3)15% (4)18% (Marks 4)

\/HjjOn Average train takes 1 Minute30secs to Cross a Bridge of 1200 Meters that
means the Speed of Train is between
(1) 60to 65 Km /hr (2) 45 toS0Km /hr (3)70-75Km/hr (Marks 4)

I)ﬂ Indicate True or False ( Marks 4)
(1) RBI has not any Changes in interest rates in policy announced on 4™ Aug 2015 ~
(2) Goa Daman are part of India since 15" Aug 1947 independence day -

(3) White revolution deals with cotton growth -
(4) Dr.Swaminathan is person who made Green revolution in India -

)i—.( (A). Write in 3 sentences /lines about the Missile man of INDIA .  (Marks 5)

(B) What in 3/4 lines , your main objective of Joining This Course. --- (Marks 5)
And How it will help you.



SEAT NO. :

UNIVERSITY OF MUMBAI
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
P.G. DIPLOMA IN MANAGEMENT

(PGDM)
ENTRANCE EXAM
THIRD ROUND
DATE:24-AUG-15 TIME : 11.00AM TO 12.00 NOON ~ MARKS : 50
NOTE: » DO NOT CARRY YOUR MOBILE IN THE EXAMINATION HALL

> ANSWER ANY 25 QUESTIONS (EACH 2 MARKS)
» TICK MARK CORRECT ANSWER (EIGHER a, b, ¢) ON THIS PAPER
AND RETURN THIS PAPER TO SUPERVISOR ‘

1) Birth Place of Missile Man ofindia is ........
(a) Chennai b) Bangalore (¢) Rameshwar

2) Which is the Company thatis In Cement business -
(a) Reliance (b Birla (c) Tata

3) DTH stands for---------s cceeee . and its used for-----
(a )Entertainment electronics (b)Communications (c)information and Telecom

4) Recently Who Received Maharashtra Gaurav Award
(a) Modi, (b) DrPurandare (c) Gadkari

5) Who received recently Permission for Paying bank-
(a) Airtel (b) Vodafone (c) Aircel

6) Reserve Bank controls

(a) CRS (b) CRM (c) CRR
7) Ola
is in business of--
(a )Car Rentals (b) Grocery/ home products (¢) Mumbai Transport

8) Banks were nationalized by PR!ME minister
(a) DrManmohan sing  (b) India Gandhi (c) V.P.Sing
9) Name 1% Indian person who became Prime minister after RBI Governer.

(@) LKJHA (b)CD DESHMUKH  (C) MANMOHANSINGH

10) worlds highest Peace/Nobel prize winner is _
(a) Indira Gandhi (b)Ravindranath Tagore (c) Dr.S.Radhakrishna

11) world population in 2014
(a) 580 cr (b) 720 cr(C) 650 cr

12) AMFI! bodyis is for
(a)Banks (b) Insurance (¢) mutual funds

13) Tea Gardens are mainly in...
a) Assam (b) Kerala (c) Karnataka
14) Financial capital is city of
(a)New Delhi (b) Bangalore (c) Mumbai



156) NFCis technology deals with
(a) New Finance corp.  (b) Near Filed communication {c) near field contact

16) Adhar is a Initiative by
(a)Central Govt Progm UID  (b) NREG {cy Voters 1D

17) NBFC- relates to
{a)Media (b} Stock Exchange (c) Financial products and Services other than Banks

18) IRDP Relates to-
(a) Insurance Regulation (b) Integrated Rural  (c) International Regulation

19) NSE Relates to-
(a) Stock market Regulation (b) stock exchange(c) National safety enterprise
20) “DUAL CORE is gives assurance of on
(a) Quality of PC (b) MAKE OF Computers (c)Supplier of ICs .

21) Currency of Greece is

(a) Mal, Dollar (b) Rand | (c) EURO
22) One Liter of Veg Oil is

(a) 850 Gram (b) 1000 Gram (c) 910

23) Banks were nationalized in Year
(a) 1969 (b) 1970 (c) 1971

24) CROMA - Brand is associated with
(a)LCD CTV + Washing machine +AC  (b)LCD CTV+ Refrigerator+ AC  (c) Both(a &b )

25) ECGC -- deals with
(a) Exportofitems (b) Finance support for Export (c) Exchange Control

26) Name player who won 1 Silver Medal in world Badminton championship
(a) Sania Mirza (b) Prakash Padukone (c) Sania Nehwal

27) How many Overseas Countries Narendra Modi Visited in last 15 Months as PM
(@15  (b)25 (c) 30

28) The diagonal a rectangle with sides of 3 &4 is
(a) 6 (b) 7 (c)5

29) A number N multiplied by itself and 9 is added.. Then resulting number is
multiplied by itself (new No) then new no is 625 .What is value of N
(@)3 (b) 5 ()7

30) How did You know of This course. ?
a) Advertisement ?(whichpaper)
b) Exhibitions Education fair----where- --
¢) Friends-- - -~
d) Internet/Google/University —
e) Enquiry counter at garware.
f) What is your purpose /Expectations of joining This Course,(3/4 lines)

o 4 & %= %



SEAT NO. :

UNIVERSITY OF MUMBAI
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
P.G. DIPLOMA IN MANAGEMENT
(PGDM)
ENTRANCE EXAM

DATE: 17-Jul-15 TIME : 11.00AM TO 12.00 NOON MARKS : 50
NOTE: » DO NOT CARRY YOUR MOBILE IN THE EXAMINATION HALL

» ATTEMPT ANY 25 QUESTIONS
» EACH QUESTION CARRIES 2 MARKS

I. Ajit can complete a piece of work in 60 days whereas Kailash and Shailendra
working ftogether can complete it in 15 days. When Ajit and Shailendra
alternately works for a day each, the work gets completed in 40 days. Then the

number of days in which Kailash will complete twice the work is :

(a) 30 (b) 40 (c) 52 (d) 60 (e) None of these

2. The cost price of an article is Rs.16. The percentage of profit when calculated on
the selling price is numerically equal to the selling price. Then the selling price of

the article is :

(a) 20 (b) 40 (c) 80 (d) Both (a) and (¢) (e) None of these

Question 3 — 9: The passage below is followed by questions based on its content.

Answer the questions on the basis of what is stated or implied in the passage.

Early in the careers of most, novelists, the critics nag and carp; later,
the cold eye of reassessment is cast over their life's work at the peak of a writing
carcer, which is where Doris Lessing now stands, the years of solid achievement
command maximum respect.

A survey of critical responses to Lessing's books might reveal curious
strata of social history. It is hard to remember now that she was once considered
very dariug and very militant (she insisted thiat relations between the sexes were
difficult and unequal). She has been accused of being a feminist, and then

accused by feminists of not being a feminist enough. She has been a communist,

Page 1 oi 8
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but then moved on from a belief in simplistic political solutions to interest in
deeper psychological change, touching on themes of madness and of mystical and
extrasensory states of consciousness.

fessing has written clearly into all ier work the conviction that we are
moving blindly and inevitably toward global catastrophe. Her message seems to
be our complete moral and social bankruptcy, particularly in the relations
between men and women. Hers is not an angry feminism, though her men are
rather poor creatures compared to her bruised but gritty women. Anger may
imply a hope that things could be better if only some sense could be knocked into
somebody's head, a hope for a time "after the revolution." One does not feel that
Lessing sees any hope, only perpetual deadlock.

Certainly Lessing has earned the respect accorded to a writer 'of her
stature and productivity. Doggedly she has been writing into her fiction signposts
and warnings that we need desperately to be reminded of and writing in a way
that has been more persuasive and imaginative than if she had been a pure
polemicist. But the critic has the problem of distinguishing between what an
author says and the way, she says it. The moralist in Lessing, struggling with the
very skilled writer, at times has made her writing prolix, clogged, slow though in
her latest novels she has successfully introduced a leavening of fantasy. The fact
is that there are writers who in an economical page or two can make us feel our
dilemmas more piercingly than she does in a leisurely fictional experience.
Missing from her work is that sense of time and space gathered up for a moment

between the hands, that sudden shift from understanding to seeing directly, that

we expect alt rare moments from our storytellers.

3. According to the passage, Lessing's feminism is characterized by which of the
following?

I. A lack of concern for the well-being of males.

I1. A special emphasis upon the problems of women in professional life.

I1I. A belief that antagonism between the sexes is inevitable.

Page 2 of 8




{a) I only (byHlonly (oylandllenly (d)1!and Hlonly  (e) Il and I}

Phe aspect of Lessing's work most extensively discussed in the passage is ifs

4.
(a) Pungent humor
(b) Disarming candidness
(¢) Scrupulous scholarship
(d) Unrelenting moralism

(e) Feminine bias

S. According to the passage, which of the following can be attributed to Lessing's
concern with warning society of its deterioration?

(a) Recurrence of the same situations in her various writings.

(b) A readership whose interest in her writing is more political than literary.

(¢) Concentration of the critics on her craftsmanship rather than her "message."

(d) A tendency for her prose to be labored and verbose.

(e) Her social and political activism.

6. The passage suggests that the author admires writers :

(a) Whose fiction is less militant than Lessing's.

(b) Who express greater optimism and hope than Lessing does.

(c) Whose insights are succinctly and trenchantly developed.

(d) Whose writings have been characterized by stylistic innovation.

(e) Who are less dogmatic.

7. The pasSage implies that the author views communism as an ideology that :
(a) Fails to accommodate the complexities of society.
(b) Is Lostile to artistic creativity.
(c) Fosters an acute awareness of social injustice.
(d) Is congenial to feminist concerns.
(e) Has outlived its utility.
Page 3 of 8




8. The author's attitude toward Lessing can best be described as one of :
(a) Serious reservation

(b) Grudging respect

(¢) Enthusiastic endorsement

(d) Qualified admiration

(e) Unabashed admiration.

9. The passage suggests that one reason why opinion regarding Lessing's feminism
has changed is that :

(a) The focus of her literature has changed from social issues to psychological states.

(b) She has gradually adopted a more conservative position on the roles and rights,

of women.
(¢) Feminists today find her work irrelevant to their concerns.
(d) Her views no longer seem as revolutionary as they once did.

(e) She remains involved with peripheral issues.

10.1f22 +1=30,43+4="75Then 59 +5=2?
(a) 64 (b) 72 (c) 86 (d) 99 (e) None of
these

11.1f2x2=83x3 =18 Then4 x4 =7
(a) 32 (b) 64 (c) 16 (d) 8 (e) None of these

12. Which pair of numbers is different from the, rest?
(a) (5, 15) (b) (6, 24) (¢) (7, 49) (d) (9,63) = (e) None
of these
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3 SISTER is coded as 212345 and ARC is 658 then ARREST will be coded as

g oy

PN L Ay I p i e
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wy o

£t
i
R

bud

G 055243 (h) 6858324

14. [T SKY is coded as TTMMXX, then LIFE will be coded as
(a) MMKKDD (b) NNKKFF (¢) MMLLFF (d) MNOOCC (e) None of these

15. A cone and a cylinder of equal heights have equal radii of their bases. The height

of the cone is doubled and that of the cylinder is halved. What will be the ratio of
their volumes?

(a) 4:3 (b) 3:1 (c) 1:3 (d) 1:12 (e) None of thesé

Direction for questions 16 — 20 : Sentences are given with blanks to be filled in with
an appropriate word. Five alternatives are suggested for each question. Choose the

correct alternative.

16. A poor man I knew nursed the orphan.
(a) what
(b) that
(¢) who
(d) which

(e) whom

17. My father can’t very well as he’s slightly deaf.
(a) listen
(b) grasp
(c) recall
(d) understand

(e) hear
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9.

20.

Mawy  of wildlife are becoming instinct,
{a) specimens

{(b) species

{¢) examples

(d) brands

(e) makes

Being an opportunist of the first order, he is still sitting on the fence and is trying

to weigh the of the various political parties.

(a) proposals
(b) prospects
(¢c) perspectives
(d) possibilities

(e) purpose

To say that science is either good or bad is irrelevant because science is in the
mind of man, and it does not have any apart from the mind of man.
(a) relevance

(b) existence

(¢) meaning

(d) essence

(e) none of these

Direction for questions 21-25 : Five alternatives are given for the idiom/ phrase

underlined in the sentence. Choose the one which best expresses the meaning of the

idiom/ phrase underlined.

21.

He has fallen out with his wife.

(a) had an accident

(b) had a quarrel

(c) slipped away

(d) gone away together

(e) none of these
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22. His voice gets on my nerves.

() makes me jli

(b} pierces my eardrums
(¢} irritates me

(d) makes me sad

(e) none of these

23. We should do away with the present examination system.

(a) abolish

(b) interdict
(¢) demolish
(d) prohibit

(e) none of these

24. The teacher was as good as his word.
(a) incapable of action.

(b) ready to fulfill his promise

(c) better than expected.

(d) highly pretentious

(e) none of these

25. In life, we have to take the rough with the smooth.

(a) make unpleasant things better.
(b) accept unpleasant as well as pleasant things.

(¢) be tough in order to be successful.

(d) use pleasant words to make things smooth. (¢) none of these.
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General Knowledoe Ouestions 26 — 40

2 &

29.

30.

31.

32.

33.

34.

3s.

36.

37.

38.

39.

40.

. Which country is facing Financial Crisis?

7. Who is Chairman of BRICS BANK?

- What Long Form CRR

What is the full form of RTE & RTI?

Name MNC now facing Quality issue in Food products

Who Won Wimbledon 2015 Women singles Title

What is Full form of FSSAI?

Which are main 2 business by which India Earns maximum Foreign Exchange?
Name father of Green Revolution in India.

Name father of White Revolution in India.

Name Ist Indian person who was Governor of RBI.

What is name of place where in India tested its Atomic bomb?
How many Years Mumbai University has Completed?

What is associated with Hutatma Chowk in Mumbai?

Name Ist Indian person who set his foot on Moon.
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BN&VRRSHY OF MUMBAI
@ARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
ENTRANCE EXAMINATION
P.G. DIPLOMA IN MANAGEMENT (PGDM)

DATE : 21/07/2014 TIME : 11.00 AM TO 12.00 NOON MARKS : 50

~ NOTE :- ALL QUESTIONS COMPULSORY. EACH QUESTION CARRY 2 MARKS.

1. In the first 10 overs of a cricket game, the run rate was only 3.2. What
should be the run rate in the remaining 40 overs to reach the target of 282

runs?
A. 6.25 ~ B.5.5
C.74 D.5

2. A grocer has a sale of Rs. 6435, Rs. 6927, Rs. 6855, Rs. 7230 and Rs. 6562
for S consecutive months. How much sale must he have in the sixth month so
that he gets an average sale of Rs. 6500?

A. 4800 B. 4991

C. 5004 D. 5000

3. The average of 20 numbers is zero. Of them, How many of them may be
greater than zero , at the most?

A. 1 B. 20
C.0 D.19

4. The captain of a cricket team of 11 members is 26 years old and the wicket

- keeper is 3 years older. If the ages of these two are excluded, the average age .
of the remaining players is one year less than the average age of the whole
team. Find out the average age of the team.

A. 23 years B. 20 Years
C. 24 years D. 21 Years



¥, F 4 [ ]

5. The average monthly incomne of A and B iSZ’;ng 5050. The average monthly |
income of B and C is Rs. 6250 and the average monthly income of A and C is
Rs. 5200. What is the monthly income of A?

A. 2000 B. 3000

. C. 4000 D. 5000

6. A car owner buys diesel at Rs.7.50, Rs. 8 and Rs. 8.50 per litre for three
successive years. What approximately is the average cost per litre of diesel if

he spends Rs. 4000 each year?
A.Rs. 8 B. Rs. 7.98
C.Rs. 6.2 D.Rs. 8.1

7. In Kiran's opinion, his weight is greater than 65 kg but less than 72 kg. His
brother does not agree with Kiran and he thinks that Kiran's weight is greater
than 60 kg but less than 70 kg. His mother's view is that his weight cannot be
greater than 68 kg. If all are them are correct in their estimation, what is the

ave'rage of different probable weights of Kiran?
A. 70 kg B. 69 kg
C. 61 kg D. 67 kg

8. The average weight of 16 boys in a class is 50.25 kg and that of the
remaining 8 boys is 45.15 kg. Find the average weights of all the boys in the

class.
A. 48.55 B. 42.25
¢so  D.S12S




9. A library has an average of 510 visitors on Sundays and 240 on other days.
What is the average ﬁﬁﬁ;b%? of visitors per day in a month of 30 days
beginning with a Sunday?

A. 290 B. 304

’C. 285 D.270

10. A student's mark was wrongly entered as 83 instead of 63. Due to that the
average marks for the class got increased by half 1/2. What is the number of

students in the class?
A. 45 B. 40
C.35 D. 30

11. 1f 204 + 12.75 = 16, then 2.04 + 1.275 =?

A. 16 B. 1.6
C. 0.16 D. 0.016

12.7212 + 15.231 - ? = 6879
A.359.022 B.362.02
C. 328221 D.348.231



13. The central banking functions in India are performed by the
I.  Central Bank of India
II. Reserve Bank of India

[Il. State Bank of India
IV. Punjab National Bank

14, The members of the Rajya Sabha are elected by

A. The people
B. Lok Sabha
C. Elected members of the legislative assembly

D. Elected members of the legislative council

15. The present Lok Sabha is the
A. 13th Lok Sabha

B. 14th Lok Sabha
C. 15th Lok Sabha

16th Lok Sabha



- 16. The Paithan (Jayakwadi) Hydro-electric project, completed with the help
of Japan, is on the river

A.  Ganga B. Cauvery

€. Narmada D. Godavari

17. 5" sept is birtday of
(a) Indira Gandhi (b)Ravindranath Tagore (c¢) Dr.S.Radhakrishna

18. Reserve Bank controls

(a) CRS (b) CRM (¢) CRR

19. IRDA Relates to-

(a)Insurance Regulation (b) Integrated rural (c) International Regulation

20. Currency of Germany is known as

(a) Mal,Dollar (b) Rand (¢) EURO

21. 1. The Signature bridge project is being constructed across river ___?

[A] Ganga [B] Yamuna [C] Beas [D |Hoogly



22. In the latest Railway budget, the government has announced the first bullet train
in which corridor?

[A]Delhi-Agra EB}Mumbai«»Ahmadabmj [C]Delhi-Kanpur [D]Delhi-Kolkata

- 23. According to Rangarajan Panel on poverty estimation which state has highest
number of people below poverty line?

[A]JJharkhand [B]Chhattisgarh [C]Odisha [D]Bihar

24. Which of the following stadium is often called “Mecca of Cricket”?

[A]JEden Garden, Kolkata [B] Melbourne Cricket Ground, Melbourne
[C]The Lords, London [B]The Oval, London

25. Recently, Indian Air Force has launched itS first 3D mobile gamé to encourage
youths to join the Air Force. The name of the game is ?

[A] Sky is the Limit [B] Guardians of the Sky [C] Sky Scrapers [D] The Protectors




UNIVERSITY OF MUMBAI
GARWARE INSTITUTE OF CAREER EDUCATION & DE V’Fl OPMENT
ENTRANCE EXAMINATION
P.G. DIPLOMA IN MANAGEMENT (PGDM)
SECOND ROUND

DATE : 11-Aug-14 TIME : 11.00 AM TO 12.00 NOON MARKS : 50

L. In the first S overs of a cricket game, the run rate was only 6.4. What should

be the run rate in the remaining 40 overs to reach the target of 282 runs?
A.7.25 B. 5.51

C. 8.4 D.5.8

2. A grocer has a sale of Rs. 5435, Rs. 5927, Rs. 5855, Rs. 6230 and Rs. 5562
for 5 consecutive months. How much sale must he have in the sixth month so
that he gets an average sale of Rs. 55007

A. 5800 o B. 3991

C. 4004 _ _ D. 4000

3. The average of 25 numbers is zero. Of them, How many of them may be
greater than zero, at the most?

Al o B. 25

C.0 D. 19

4. The captain of a cricket team of 11 members is 28 years old and the wicket
keeper is 4 years younger. If the ages of these two are excluded, the average
age of the remaining players is one year less than the average age of the whole
team. Find out the average age of the team. (Round off to the nearest digit)

A. 24 years B.21 Years
C. 25 years D. 22 Years



5. The average monthly income of A and B is Rs. 6000. Since B has an
experience of 2 Years, he get Rs. 1000 more than A. What is the monthly
income of A?

A. 4000 : B. 3500

C. 4500 ‘ D. 5500

6. A car owner buys petrol at Rs.78.50, Rs. 80 and Rs. 80.50 per litre for three
successive years. What approximately is the average cost per litre of petrol if

he spends Rs. 4000 each year?
A.Rs. 80 B. Rs. 70.98
C.Rs. 60.2 D. Rs. 80.1

7. In Kiran's opinion, his weight is greater than 65 kg but less than 72 kg. His
brother does not agree with Kiran and he thinks that Kiran's weight is greater
than 60 kg but less than 70 kg. His mother's view is that his weight cannot be
greater than 68 kg. If all are them are correct in their estimation, what is the

average of different probable weights of Kiran?
A.70 kg B. 69 kg
C.61kg D. 67 kg

8. The average weight of 16 boys in a class is 50.25 kg and that of the
remaining 8 boys is 45.15 kg. Find the average weights of all the boys in the

class.
A. 48.55 B. 42.25
C. 50 D. 51.25

O



9. A library has an average of 510 visitors on Sundays and 240 on other days.
What is the average number of visitors per day in a month of 30 days
beginning with a Sunday?

A. 290 B. 304

C. 285 D. 270

10. A student's mark was wrongly entered as 83 instead of 63. Due fo that the
average marks for the class got increased by half 1/2. What is the number of

students in the class?
A. 45 B. 40
C.35 D. 30

11. If 204 + 12.75 = 16, then 2.04 ~ 1.275 = ?
A. 16 B. 1.6
C.0.16 D. 0.016

12. 7212+ 15231 - 2= 6879
A.359.022  B.362.02
C.328221 D.348.231



13. The central banking functions in India are performed by the

I.  Central Bank of India
II.  Reserve Bank of India
[II. State Bank of India
IV.  Punjab National Bank

14, The members of the Rajya Sabha are elected by

A.  The people
‘B. Lok Sabha
C. Elected members of the legislative assembly

D. Elected members of the legislative council

15. The present Lok Sabha is the
A.  13th Lok Sabha

B.  14th Lok Sabha
C.  15th Lok Sabha

16th Lok Sabha



16. The Paithan (Jayakwadi) Hydro-electric project, completed with the he]p
of Japan, is on the river

A.  Ganga B. Cauvery
C. Narmada D.  Godavari
17. 14" Novermber is birthday of ‘. ?

(2) Indira Gandhi (b) Jawaharlal Nehru
(¢) Dr. S. Radhakrishna (d) Rajiv Gandhi

18. Reserve Bank controls

(a) CRS (b) CRM (c) CRR
19. IRDA Relates to-
(a) Insurance Regulation (b) Integrated rural (c) International Regulation

20. Which country is going to head the BRICS Bank?
A.China ~  B. Brazil C.Russia  D. India

21. The Baghmati River in which country?

[A] Nepal [B] India [C] China [D] Pakistan

©



22. Which is the SARRC Country Visited By Prime Minister in Ang 2014 ?

A. Srilanka B. Nepal C. Bhutan D. Bangladesh

23. Which is the 36" District in Maharashtra?

[A]Dhanu [B]Wada [C]Virar [D]Palghar

24. Which of the following stadium is largest in India?
[A]Eden Garden,- [B] Chinnaswamy

[C]Wankhede [D] Kotla

25. Recently, Common Wealth Game 2014, First time India has won Gold Medal in
the game.

A. Badminton B. Hockey

C. Basketball D. Squash



SEATNO. :

UNIVERSITY OF MUMBAI
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
P.G.DIPLOMA IN MANAGEMENT
ENTRANCE EXAM

DATE : 12/07/13 TIME : 11.00AM TO 12.00 NOON MARKS : 50
NOTE :m . R B . .
% TICK MARK CORRECT ANSWER.

% ANSWER ALL QUESTIONS.
% NO NEGATIVE MARKS FOR INCORRECT ANSWERS.

Tick Mark the - ONE Correct answer (a,bor c¢) Of Multiple choices

(1) WhichOneisOdd (a) Food processor  (b) Washing Machine  (c¢) Refrigerator

:(2) Which One is Odd (a) Cadbury (b) Parle (c) HUL :
(3) Which One is Odd (a) Vodafone ~ (b)Airtel | (c) GODREJ
(4) Whichisan Odd  (a) Pen (b) Pencil (c) Notebook
(5) Which one is Odd (a) Tabla (b) Dholak (c) Sitar
(6) Which one Iis Odd (aj Flute (b) Shehanai o (c) Sitar |

(7) Tick the Correct answer -15™ Aug is also Independence day for o _
(a) South Africa (b) South Korea - (c) Nepal

(8) The author of the book, “It Happened in INDIA
(2) Narayan Murthy : (b) Aziz Premji <. (c) K.Biyani

v('9) Which state has suffered due for heavy rains and hill slides--.large loss. '
(a) Uttar Pradesh - (b) Uttarakhand - . (c) Himachal Pradesh

(10) Which of the cities is also ‘a* State “,and has Chief miniéter :
() Mumbai - (b) Delhi | () Kolkatta

(1T) Jute is Maximum Cultivated in which one state

(a) Assam (b) West Bengal. (¢) Bihar

(12) Financial Capital Of India
(a) Hyderabad (b) Delhi (¢) Mumbai
(13) “Incredible India” - is associated with --—- (a) Tourism (b) Travel (c) Hotel

H



(14y Yen 1s Currency of—

(a) Japan (b) South Africa (¢) Yeman-saudi

(15) One US Dollar is equivalent to
(a) Rs 54. (b} Rs 58. (¢) Rs56.

(16) A Parle Glucose package hasa _ :
(a) Green Mark , (b) Red Mark R (¢) Black Mark

(17) 1MIn means
(a) 1 Lac , (b) 100Lacs ‘ (c) 10 Lacs

(18) 7 Habits is Book by
(a) Stephen Covey " (b) Shiv Khera (¢) Tom Peters”

(19) Present Share Of Organised Retail inIndia is ....

(a) 3-5 % o (b) 8to 10% (c)15-20%
(20) Which one Odd in following : . '
" (a) March (b)June (c) Sept (d) Nov.

(21) Who is winner of women ’s Wimbledon- Tennis in2013

(a) Marion Bartoli (b) Sabine Lisscki - (c) Pinki
(22) Which. Indian had the honour of Toss during 2013 Mens Wimbledon Final
(a) Pinki ‘ . (b) Mahesh.B. - (c) L. Paes

(23) Which one Country is member of BRICS nation - _
- (a) Canada (b) Singapore Y (¢) South Africa

(24) In" 2011 moment of Proud for Most of Indians
(a) World Cricket cup Win (b) World Hockey Win (¢) World Chess Win

(25) With VAT made compulsory the net effect is- »
(a) Price Increases (b) Total tax Collection increase (¢) You Pay More (d) All (a+b+tc)

(26) Bharat natayam dance “Origin is State of \
(a) Apdhra ( b) Tamil Nadu (c¢) Karnataka

(27) The Arjun Award is associated with

(a) FILMs (b) Sports (c) Music

(28) No of Languages used in Indian Notes

(a) 16 (b) 17 (c) 18
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(29) Elephants in India  are mainly seen in
(a) Maharashtra (b) Karnataka (¢} Assam

(30) Country Known as Land Of Rising Sunis

(a) Australia (b) JAPAN (¢) CHINA

(31) on26"™ Jjan  Indian National is Hoisted by

(a) President (b) Vice President o - (¢) Prime Minister

(32) Bangla Desh was Formed as an Independent country

() 1947 (b) 1969 | ' (c) 1971

(33) The Year when For First Time MOBILE Phone was Introduced in India
(@) 1991 (b) 1995 (c) 1998

~ (34) In Present Minister for Commerce is  ( Central Govt)

(a) Mr. Anand Sharma (b) Mr Pranab Mukherj ee - ' (¢) Mr Praful Patel

(35) The Total no Of MPs In Rjaya sabha ( Upper House)
(a) 565 (b) 525 (c) 545

(36) No of MPs Retire From Rajya every Time is ,
(@175 , (b)525 (c) 545

(37) BRIC Countries Group means - ,
(a) Bangladesh , Russia , India, China

(b) Brazil , Russia, India, China

(c)Bhutan , Romania ,Indonesia, China

(38) Which Country in world had 1% Lady Prime Minister
(2) INDIA , | (b) UK ~ (c) SriLanka

(39) How many companies have applied to RBI for New Licence for opening bank.
(a) 18 L (b) 22 (926
(40) Choose next no in logical sequence -

16,48 , 80, 112, -
(a)133 (b) 154 (c) 144

(41) Choose next no in logical sequence
16, 64, 128,

(a) 256 (b) 192 (c) 32
3



(42) Independence DAY of USA 1son, (a) 4" sept (b) 4™ July (@)1 du:, .
(43) FDI has recently been relaxe din (a) RETAIL (b) Banking (¢c) Telecom
(44) If Total Bill at Retail Stores Before discount is Rs 600 and if 7% Discount is Offered .and 4% VAT is

Charged »

How Much You will pay Rs. (a) 558 (b)581 (€591
(45) Value of 1Euro as Compared to 1 USD is

(a) 20% More (b) 30% more ‘ (c) 10% Lower
(46) “'Won” is a Currency of (a) Japan (b) South Africa (c) South Korea
(47) InLCD TV 32 Inch size—this 1ength is measured as

(a) Shorter side- Vertical (b) Longest side~ Horizontal length (c) Dlagonal length

i (48) Marketmg advertlsements —and sales are —

@) Must for any Business (b) Not necessary many business( ) Waste of resources in Business

(49) How did You come to Know of PGDM Course at Garware institute ?

and why You Decided to Do this Course ,

Explain in2/3 sentences- --- . : -
. .

(50) which one spemahzatlon You want to select in PGDM

(a);_M.arketmg (b) Finance  (¢) HR. - Give i in .one line ‘Reason------==---==-===-

: **************x***x******** )



- SEAT NO. :
UNIVERSITY OF MUMBAI
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
P.G.DIPLOMA IN MANAGEMENT
SECOND ROUND
ENTRANCE EXAM

DATE : 08-Aug-13 . TIME : 11.00 AM TO 12.00 PM , MARKS : 50

NOTE: Answer ALL 30 Questions. Objective- ' ,

Tick mark correct answer ( either a, b, ¢ ) On This Question paper SHEET and
RETURN Back this paper to supervisor .

Q31,32,33,34 are descriptive writing (20marks)

(1) Birth Place of Fatherof nationis ........
(a) Gandhinagar (b) Rajkot (c)Porbunder

2) The only Company that has both SALT and trucks as PRODUCTS i is in lnd:a iS.co
(a) Reliance (b Birla (c) Tata

(3 ) DTH Productis ......
(a )Entertainment’ electronics (b)Commumcatlons ( c)information and’ Te!ecom

(4) India and Chma fought war in
(a) 1998 (b) 1962 ‘ (c) 1965

(5) FDI in business MEANS .
(a) Fixed deposit interest (b) Foreign dept Interest (c) Foreign direct investment

(6) Reserve Bank controls
(a) CRS " (b) CRM (¢) CRR

(7) WALMART gsin busxness of--
(a )Car Rentals - (b) Grocery/ home products (c) Mumban Transport
(8). Banks were . nationalized by PRIME minister
“(aYPandit Nehru (b) India Gandhi (c) V.P.Sing
(9) Name 1% Indian person who became Governor of RBI
(@) LKJHA (b)) CD DESHMUKH  (C) MANMOHANSINGH

(10), worltls highest prize winner is ’ v ,
(a) Indira Gandhi (b)Ravmdranath Tagore (c) Dr.S.Radhakrishna .

(11) world population in 2012
~ (a)580cr (b)780cr(C) 680cr

(12) IRDA bodyis is for
(a)Banks (by Insurance (c) insurance and mutual funds

(13) Tea Gardens are mainly in...
a) Tamilnadu (b) Kerala (c) Karnataka



(14) 1T capital is city of
{a)PUNE (b) Bangalore (c) Chennai

(15) NFCis
(a) New Finance corp.  (b) Near Filed communication (c) near field contact

(16)  Adhar is a Initiative by
(a)Central Govt Progm UID (b) NREG (c) Voters ID .

(17) NBFC- relates to
(a)Media (b) Stock Exchange (c) Finance other than Banks

(18) IRDP Relates to- ; .
(a) Insurance Regulation (b) Integrated Rural  (c) International Regulation

(19) NSE Relates to-

(a) Stock market .Regulation (b) stock exchange(c) National safety enterprise

. (20) “DUAL CORE is gives assurance of on .
(a) Quality of PC (b) MAKE OF Computers (c)Suppller of ICs .

(21) Currency of ltaly is known as

(a) Mal, Doliar (b) Rand (c) EURO
(22) Approximately ONE EURO Is "
- (@) Indian Rs 68 (b) Indian Rs 48 (c) Indian Rs 80
\ . . ’

" (23) 'YEAR inwhich 1% Human to set -foot on moon
(a) 1969 (b) 1970 (¢) 1971

. (24) CROMA Brand is associated with . _
" (a)LCD CTV + Microwave oven+AC ‘ (b)LCD CTV+ Refrigerator+ AC  (c) Both(a &b)

(25) ECGC - deals with | |
(a) Exportofitems {b) Finance support for Export (¢) Exchange Control

(26) India has won world cup in cricket
(a) 3times’ - (b) 2times "~ {c) 4times

(27) Next Olympic games will be held in -
(a)USA (b) UK (c) Brazil

(28) The diagonal a rectangle with sides of 3 &4 is
(a) 6 (b) 7 ()5



(29 } In which year next Olympic games will be held.
(a) 2014 (b)2015 (c) 2016

(30} A number N is doubled and 9 is added. If then resulting number is multiplied by
itself (new No) then new no is 225 What is then N

(a)b A (by3 . ()9

N Descriptive writing-- (5Marks )( answer each Qin 4/5lines)
(31) if you are ihdustry minister what you will do??
(32)As a Business management student - what are your plans of self study ,and how
will you ensure your good performance..? : ‘
\. .

(33) which specialization you plan to take and WHY?/

~(34) write about your hobbies and how will on make use of this in Career/job. .

Y




SEAT NO. :

UNIVERSITY OF MUMBAI
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
P.G. DIPLOMA IN MANAGEMENT
ENTRANCE EXAM

DATE : 06-Jul-12 TIME : 11.00AM TO 12.00 NOON MARKS : 50

NOTE: Answer ALL 40 Questions.
Tick mark correct answer (either a, b, ¢ ) or write in blank space answers where ever asked.
ALL Answers be given in this paper and Return THIS Paper it self to SUPERVISOR.
Questions 1to 30 -- 1 mark each and questions 31 to 40 two Marks each

(1) Capital city of a state where in Father of nation was born ........
(a) Gandhinagar (b) Rajkot (c)Porbunder

(2)Only one company that has both telecom and electricity as main businesses.
(a) Reliance (b Birla- Idea (c) Mahindra ‘ N

(3) “Hp “and Apple Product are---classified as ......
(a)Entertainment electronics (b)Communications  (c)Information and Telecom

(4) Pvt insurance companies is result of in Indian Economic policy changes initiated in
(a) 1990 (b) 1991 (c) 1995

(6) NBFC business MEANS
(a) NATIONILISED BANKS FOREIGN CONTRACTS
(b) (b)NON BANKING FIXED CONTRACT (c) NONBANKING FINANCE COMPANIES

(6) Reserve Bank controls AND announces regularly
(a) CRS (b) CRM (c) CRR

(7) Initially © UDAY- Kotak” started its business of --

(a)Car -Automotive (b) Banking (c) Tractors with MAHINDRA
(8) HDFC WAS SET UP IN

(a) 1975 (b) 1985 (c) 1995

(9) ONE Indian person who was Governer of RBI and then became union finance minister
(a) Pranab Mukheriji (b ) Manamohansing (c) Narasimhanrao

(10), 5" sept is birtday of
(a) Indira Gandhi (b) Ravindranath Tagore (¢) Dr.S.Radhakrishna

(11) DTH stands for
(a) Dish Television Home (b) Distance to Home {c) Direct To Home



i

(12) “Oranges are more grown in large“quahtitiés in

(a)Nasik (b) Nagpur  (¢) Mahbleshwar.
(13} Green Peas are more avib/grown
a) Bihar {b) West Bengal (¢} Himachal pradesh

(14) Tata Steel first factory was sel up
i city of -~
(a) PUNE (b) Bangalore (¢} Jamshedpur

(15) Windows 2007/XP is developed by --
(a) Oracle (b) Apple (c) Microsoft

(16) “E chaupal “ is a Initiative by
(@) ITC byP&G (c)y HUL.

(17) NSE- relates to
(a)Media (b) Stock Exchange (c) Finance other than Banks

(18) IRDP Relates to-
(a) Insurance Regulation development program
(b) Integrated Rural development program
(c) International Regulation for Developed Provinces

’ (19) IRDA Relates to-
(a) Insurance Regulation (b) Integrated Rural (c) International Regulation

(20) “ Intel Inside™ is gives assurance of on
(a) Quality of PC (b) MAKE OF Computers (c) ICs and Quality assurance

{21) Currency of Thailand is known as
(a) BHAT (b) Rupees (c) Thai Dollar

(22) Approximately 100 Euros means
(a) Indian Rs670  (b) IndianRs6700 (c) Indian Rs5700
(23) YEAR in which 1* time India won world cup in cricket

(@) 1969 (b) 1983 (c) 2011

(24) Olympic games are held once in
(a)5years (b)4years (c) 2years

(25) Olympic games this year are to be held in
(a) Great Briton (b) France (c) USA
(26) FDI % Shareis anissue for

(a) RETAIL (b) TELECOM (c) Textile industry

(27) 2016 Olympic games will be held in -
(a) USA (b) Brazil/ (c) India



(28) The diagonal a rectangle with sides of 8 & 6 is
{(a) 10 {by7 {cy 12

(29) which one is odd word
(a) Good (b) Food (¢y Mood

(30) A number N is doubled and 9 is added. If then resulting number is multiplied by itself then
new no is 625 ,then the no N
(a)4 (b) 8 (c) 16

(31) Which is the no when you multply with it to any other no Value/no Does Not Change
and Both nos. Remain intact.

(82) Which isone no when you multiply withitto any no. Only ONE Remains and other vanishes..

(83) Which is one no when you muliply with any other big or small no the total sum of all digits
(if needed repeat sum of digits)- will always results in Original No....

(34) - findout next no in series 3, 27, 5,125,7,343,9,..2?
(35) GST stands for ----------

(36) DAVOS is known for world summiton  -------=  cceeeen

(87) What is fullform SAARC -----=--==-=-ssrmemmmmeeeeee
What are BRIC countires o e e

(38) Governer is a post- held in Each state and reports to President of India.
Indicate Which and where is the other-- Governer post connected to finance,

(89) University of Mumbai-Bombay exists for more than-
a)75 Years. (b)100 years

(c) 150 years ..and the University Heritage monument buildig in fort - is also

Known as ~----------s=-nvne

(40) Name the tstindian to win a Nobel Prize indicate — in which year award was
Given —
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{a) Reliance {b) Birla . Aey Tata
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{ay Entertainment electronics - . {b) Communications

{c} Information and fckcom
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eptinterest  (c) Foreign direct investment:

(5) Reserve Bank comrois

@ CRS '; j- | (b) CRM (¢) CRR

(7) Metro AG is inbusiness'of -
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(12) “Litehi” is mainly grown in large quantities in
(&) Bihar {b) Madhya Pradesh - {eyKerala

{13y JUTE Eﬁ‘(()(ﬁﬁfiﬁ\(x FACTORIES ARL IN state
( a) Bihar (b) West Bengal (o) Assa

{14y ‘TataNano Car is asse "I]Gii‘d ,\” r'*i,’ v

{15 } Wmdows 2(}{}0;3(1’ is dweiopeé by = S R
- (a) Oncle O Apple (o) Microsolt

{16} “F chaupai‘ is a inmu ive by ,
(a) e ®Pr&c

(@ Media (b) Stock Bxchange  (c) Finance othér
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{2} Insursnes Regulation
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(273 Avpproximarely 100 Japanese YEN Is

(a2} IndianRs 350 (b} IndianRs55.00 {c} Indian Re3500

(23) YEAR in which 1% Indian set -foot onmo ‘"-srxzw walk

(1) 196% 7 (by 1970 {ey 1971

’ ("‘1‘} ONID A Brand is fmomaz&d wu S
C{ay LCDTTV + \Imowa\e \:’n*%b (h)lC '

Higeratort AC:
{¢) Both{a &b ) o

- (28) BCGC - deals with

- {(2) Exportofitems ~ (b) Finance support for Export  (c). Exchange Control
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@5 % (0)10 L% o (@150
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- {A) The 1971 war changed the Poi LC’!}(JVL., m :suaf’mum»m
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(B) Inspite of Significant Bvent t%em 18 \0 §¢ r;ou; TZ( ckabout this Conflic

e»-s

(C) “surrender at Dhacca” aims 1o ful ml hib gap.

(D) lihas also profoundly a :tcmd.geoS’f
ACBD  2)CADB 3)BADC 4)¢

L,Lqu ion in South east Asea

AW

3} Rearrange to make Correct senk

{(A) This Morning

Marks-2

(€ An carthquake of d near by distrit
 DABDC. 2)BDAC 3)CBDA 4)CADB

34) Lasm} 1?1@ following sentence as- ~’-b~: :7 | o
F acu’ Y, or imsr»me (D, or Yudgcmwm( J\; and sélcci the éydérﬂaﬁv o t*sicw
(A} This is Black Book (B}Ali thk.. f{spam ;'{jlu;c};:yf(C)-'Bia kBoo
attractive than Brown - e R

CWFFF Q111G TF f(nf«* PR e

ks are More

35) FillInNextNo




Y N msoam o
. 18Y 2, 20,44 ) BD i

\g»

39y Indicate True or False or -

(1) Germany and France bave Different Currency { Ty uc}m{ False

A

{2) Fngland and Italy ave having Different Currenc
IR iir: o Ty f _— LY, 3 g S
BYRandis a L,mzuu,}o GO
(4 Bhat is & Currency ofter ooty

{3) BSE, index around 18000 and NSEaround 4000 {True)-—-(False)
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SEAT NO:-

g

UNIVERSITY OF MUMBAI
GARWARE INSTITUTE OF CAREER EDUCATION & DEVELOPMENT
POST GRADUATE DIPLOMA IN MANAGEMENT
ENTRANCE EXAM

DATE : 05 - 08 -2010 TIME : 11 AM. TO 12 PM. MARKS 50

Answer All Questions
( No negative marks for Incorrect answers)

Tick Mark the -ONE Correct answer - (a or ,b or, ¢) Of Multiple choices

Q (1) HLL (Unilever) ,Procter &Gamble and ITC are Examples of ---------
(a) FMGC (b) FMCG  (c) FMCC

(2) ICICI Bank, HDFC Bank and AXIS Bank are
(a) Public Sector banks (b) Multinational Banks (c) Private Sector

(3) Normally The Govt Of India - Accounting Year is From
(a) IstJANto 31¥ DEC - (b)1st April — 31stMarch (b) 1°** March to 28" /29Feb

(4) Meaning of FDI
(a) Fixed Deposit Interest (b) Find Direct Investment (c) Foreign Direct Invetment

(5) WALMART isof
(a) USA  (b) China (c) France

(6) If You Getone free on Purchase of 3 Pcs-means an Average Discount of
(a) 25% (b) 33.33% (©)35.35%

(7) On 18™ July 2010, University of Mumbai celebrated its-
(a) 152 Years (b)153 Years (c)154 years .

(8 ) The author of the book, “My Experiments with Truth” is
(a) Pandit Nehru (b)Indira Gandhi. (c) Mahatma Gandhi

(9) Main State that That has Maximum Aluminium ore.
(a) Tamilnadu (b) Orissa (c)Bihar

(10) Which State hosted Kumbh Mela in 2010
(a) UP (b) Uttaranchal (¢) Tamil nadu

(11) Goa state was a Part of
(a) French Colony (b) British Colony (¢) Portuguese Colony
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(12) Select Logically Correct sequence — : o
(a) AEIOU (b) ABCDF (c) ATEOU -

(13) COX and Kings (a) Travel /Tourism  (b) Hotel Industry ~ (c) Entertainment

(14) Pepsi has recently Collaborated with -
(a) Brook Bond Tea (b)Nestle -Nescafe (c) Tata Tea

(15) Air Bus Industries is from
(a) USA (b) FRANCE (c) GERMNAY

(16) After Independence India,s First Five Year started from--
(a) 1950 (b) 1951  (c) 1952

(17) 1Mln means
(a) 10,000 (b) 1,00000 (c)10,00,000

(18) A founder of INFOSYS
(a) Mr Sunil Mittal ~ (b) Mr Narayan Murthy  (c) Mr Kishore Biyani

(19) Mr Sunil Mittal is associated with
(a) Steel (b) Telecom (c) IT

(20) Whichone isodd member in following
(a) FEB (b) June (c) SEPT

(21) Which one is Odd member in following
(a) JAN (b) APRIL (c) JULY.

What is blank in the series
22) A E F H TI...
23) B ¢ D G T
24y AZ BY CX DW...
(25) AB GH MN ST...

(26 ) DOVE Brand is (a) Fooditem  (b) Cosmetic Product (c) Personal Hygiene item

(27) In Year 2010 Wold Cup Football Was held in
(a) Italy (b) Spain (c¢) South Africa

(28) In 2010 India is hosting
(a) World Cricket cup (b) Common wealth games  (c) World Football games

(29) Financial Capital of India is
(a) Mumbai - Maharashtra (b) Delhi NCR  (c¢) Bangaluru-Karnataka




(30) IT capital of India is in State of
(a) Karnataka (' b) Maharashtra (¢) Andhra

(31) The Difference in IST and GMT is
(a) 8&1/2 Hours (b) 5&1/2 hours (¢) 6 &1/2 hours

(32) National Animal of India is
(a) Lion ( b) Elephant (c) Tiger

(33) ” Jana Gana Mana Adhinayak Jaya He” ---is written By
(a) Ravindra Nath Tagore (b) Bankim Chandra (¢) MahatmaGandhi

(34) Country “Known asLand Of Rising Sun “is -------
(a) Australia (b) JAPAN (c) CHINA

(35) Genrally on 15" Aug Indian National is Hoisted at RedFort by
(a) President ( b) Vice President (¢) Prime Minister

(36) Govt of India Nationlised 14 Banks in the year
(a) 1951 (b) 1969 (c) 1971

(37) The Year when For First Time MOBILE Phone was Introduced in India
(@) 1991 (b) 1995 (c) 1998

(38) In Present Cabinet Finance Minister at Govt of India
(a) Mr P Chidambaram (b) Mr Pranab Mukherjee (c) Mr Praful Patel

(39) The Total no Of MPs In LokSabha( Lower House)
(a) 565 (b) 525 (c) 545

(40) UNO Came in to Existance in the Year
(a) 1942  (b) 1945 (¢) 1960

(41) BRIC Countries Group means
(a) Bangladesh , Russia , India, China

(b) Brazil , Russia, India, China
(c) Bhutan , Romania ,Indonesia, China

(42) HRD ( Education)Minister at Central Govt is
(a) Kapil Sibal (b) Pranab Mukherji (c) Vilasrao Deshmukh

(43) You Said It cartoonist is —
(a) Rk.Laxman (b) L.K Laxman (c) Shivaraman

(44) Choose next noin logical sequence 16,48 , 80, 112, ,---
(a)133 (b)y 154 (c) 144
(45) Choose next no in logical sequence 16, 12, 15, 11, 14, 10, 13,-----

(a) 8 (b)9 (©) 6
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(46) Ram ran as quickly as he ----
(2) can (b) Could (c) would
(47) Which Country - Currency got a NEW Symbol Recently
(ay US (b) Japan (c¢) INDIA
(48) Sania Mirza isknown for
(a) Table Tennis  (b) Lawn Tennis (¢) Badminton
(49) IRDA  deals with
(a) Insurance (b) Fixed deposits (c) Securities
(50) SEBI is ainstitute dealing with

(a) Banks (b) NSE/BSE (c) Insurance
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